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Cl; + 2 LiBr 3 Br, + 2 LiC}

3KOH + AlC > AOH); + 3 KQI
4Fe+30; 2Fe,04

H3PO, + 3 KOH => K;PQ, + 3 HO

- 10 Na + 2 NaNO; => 6 Na;0 + N,

AC+S=>4 CS;

2N2+502=>2N205

2 HsPO; + 3 Mg(OH), => Mgs(PO.), + 6 H,0
2CsHg + 15 0, => 12 CO, + 6 H,0
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CiHsOz + 4 0, => 3 €0, + 4 H,0
€aC0; > Ca0 + €0,
Ca+ Br, > CaBr,
2P0, 5 2P +30,
4A+30,5 2410,
SOH); + 5rQ + H,0
205> 2N, +30,
H.CO; > H,0 + €O,
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PN

Ciz + 2 LiBr 3 Br, + 2 LiC)

3 KOH + AICI; » Al{OH); + 3 KC)
4 Fe +30; % 2 Fe,0,

H3PO,4 + 3 KOH => K;PQ, + 3 H,0

10 Na + 2 NaNO; => 6 Na 0O + N,

4C+ 85 =>4CS,
2N2+502=>2N205

2 HsPOy4 + 3 Mg(OH), => Mgs(PCy), + 6 H,0
2 CsHg + 150, => 12CO, + 6 H;0
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CHeO: +4 0, => 3 €O + 4 H,0
CaCO; > Ca0 + €O,

Ca};ﬂ- Br, - CaBr,

2P0, > 2P+3G,
4AI+30,5 24,0,

SHOH), + SrQ + HO
2N0s> 2N, +30,

HaCO; » H0 + O,
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